



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\left(\frac{1}{5}\right)^2 - \frac{3}{5}\right) \times \frac{1}{2} - \left(\frac{2}{3} + \frac{1}{6}\right)^2 =$$

$$\left(\left(\frac{2}{3}\right)^2 + \frac{2}{5}\right) \times \frac{2}{3} - \left(\frac{1}{2} - \frac{1}{2}\right)^2 =$$

$$\left(4 - \frac{3}{4}\right)^2 + \frac{1}{2} - 4^2 + \frac{1}{5} =$$

$$\left(\frac{2}{3} - \frac{1}{4}\right)^2 + \frac{1}{2} \left(\frac{3}{5} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{2} - \left(\frac{2}{5}\right)^2\right) \times \frac{1}{5} + \left(\frac{2}{5} + \frac{2}{5}\right)^2 =$$

$$\left(4 - \frac{3}{5}\right)^2 - \frac{3}{2} + 3^2 \times \frac{1}{5} =$$

$$\left(3 + \frac{3}{4}\right)^2 + \frac{1}{3} + 4^2 \times \frac{3}{2} =$$

$$\left(\left(\frac{1}{4}\right)^2 - \frac{3}{4}\right) \times \frac{1}{2} + \left(\frac{2}{3} + \frac{1}{6}\right)^2 =$$

$$\left(\frac{2}{5} - \left(\frac{2}{3}\right)^2\right) \times \frac{1}{5} - \left(\frac{1}{5} + \frac{1}{5}\right)^2 =$$

$$\left(\left(\frac{1}{5}\right)^2 + \frac{2}{3}\right) \times \frac{1}{3} + \left(\frac{3}{5} + \frac{1}{3}\right)^2 =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\left(\frac{1}{5}\right)^2 - \frac{3}{5}\right) \times \frac{1}{2} - \left(\frac{2}{3} + \frac{1}{6}\right)^2 = \left(-\frac{877}{900}\right)$$

$$\left(\left(\frac{2}{3}\right)^2 + \frac{2}{5}\right) \times \frac{2}{3} - \left(\frac{1}{2} - \frac{1}{2}\right)^2 = \frac{76}{135}$$

$$\left(4 - \frac{3}{4}\right)^2 + \frac{1}{2} - 4^2 + \frac{1}{5} = \left(-\frac{379}{80}\right) = \left(-4\frac{59}{80}\right)$$

$$\left(\frac{2}{3} - \frac{1}{4}\right)^2 + \frac{1}{2}\left(\frac{3}{5} + \left(\frac{1}{2}\right)^2\right) = \frac{431}{720}$$

$$\left(\frac{1}{2} - \left(\frac{2}{5}\right)^2\right) \times \frac{1}{5} + \left(\frac{2}{5} + \frac{2}{5}\right)^2 = \frac{177}{250}$$

$$\left(4 - \frac{3}{5}\right)^2 - \frac{3}{2} + 3^2 \times \frac{1}{5} = \frac{593}{50} = 11\frac{43}{50}$$

$$\left(3 + \frac{3}{4}\right)^2 + \frac{1}{3} + 4^2 \times \frac{3}{2} = \frac{1843}{48} = 38\frac{19}{48}$$

$$\left(\left(\frac{1}{4}\right)^2 - \frac{3}{4}\right) \times \frac{1}{2} + \left(\frac{2}{3} + \frac{1}{6}\right)^2 = \frac{101}{288}$$

$$\left(\frac{2}{5} - \left(\frac{2}{3}\right)^2\right) \times \frac{1}{5} - \left(\frac{1}{5} + \frac{1}{5}\right)^2 = \left(-\frac{38}{225}\right)$$

$$\left(\left(\frac{1}{5}\right)^2 + \frac{2}{3}\right) \times \frac{1}{3} + \left(\frac{3}{5} + \frac{1}{3}\right)^2 = \frac{83}{75} = 1\frac{8}{75}$$